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3HORWDV�TXH�UHERWDQ
'HVFULSFLyQ�GHO�SUREOHPD�

/D� HPSUHVD� 2UJiQLFDV� ,QGXVWULDV� $UJHQWLQDV��
GH� VLJOD� 2,$�� KD� GHVFXELHUWR� XQD� VXSHUJRPD� GH�
FyGLJR�;8=���FRQ� OD�FXDO� IDEULFD�SHORWDV��*UDFLDV�
D� HVWH� PDWHULDO� HVWDV� SHORWDV� SXHGHQ� UHERWDU�
GXUDQWH�YDULDV�KRUDV��

$QWHV� GH� ODQ]DUODV� DO� PHUFDGR� GHFLGH� VRPH�
WHUODV� D� DOJXQRV� HQVD\RV�� � (Q� XQ� ODUJR� FRUUHGRU��
FX\R� SLVR� WLHQH� XQD� HVFDOD� GH� SXQWD� D� SXQWD��
LQVWDOD� GRV� SDQHOHV� PyYLOHV� TXH� WDSRQDQ� HO�
FRUUHGRU��8QD�YH]�ODQ]DGD�OD�SHORWD�TXHGD�SLFDQGR�
\�UHERWDQGR�HQWUH�ORV�SDQHOHV��3DUD�TXH�HO�WLHPSR�
HQWUH� LPSDFWRV�IXHUD�YDULDEOH��GRV�RSHUDULRV�-XDQ�
\�3HGUR�GHVSOD]DQ�ORV�SDQHOHV��

8QD� FiPDUD� UHJLVWUD� HQ� HO� PRPHQWR� GH� FDGD�
UHERWH� OD� FRRUGHQDGD�GHO� SDQHO� \�GH� DOOt� SDVDQ�D�
XQ�DUFKLYR��XQ�Q~PHUR�SRU�OtQHD���

$� 2,$� OH� LQWHUHVD� VDEHU� TXH� UHFRUULGR� KRUL�
]RQWDO� WXYR� OD� SHORWD� HQWUH� HO� SULPHU� \� HO� ~OWLPR�
UHERWH��

/DV� FRRUGHQDGDV� GH� ORV� SDQHOHV� YDUtDQ� HQ� HO�
UDQJR� ±��� D� ����� 3DUD� IDFLOLWDU� OD� LQWHUSUHWDFLyQ�
GHO� DUFKLYR� ORV� HPSUHVDULRV� DJUHJDURQ� DO� DUFKLYR�
XQD�OtQHD�ILQDO�FRQ�HO�Q~PHUR�������

/D� HPSUHVD� QHFHVLWD� TXH� OH� HVFULEDV� XQ�
SURJUDPD� REBOTES.EXE� TXH� GHWHUPLQH� HO�
UHFRUULGR�KRUL]RQWDO�WRWDO�GH�OD�SHORWD��
'DWRV�GH�HQWUDGD�

6H� UHFLEH� XQ� DUFKLYR� REBOTES.IN GHO�
GLUHFWRULR�DFWXDO��TXH�FRQWLHQH��
��8QD�VXFHVLyQ�GH�OtQHDV�FRQ�XQ�Q~PHUR�HQ�FDGD�
XQD�� 6DOYR� OD� ~OWLPD� HVRV� Q~PHURV� HVWiQ� HQ� HO�
UDQJR�±���D������ �(O�~OWLPR�Q~PHUR�HV�XQ��������
/D�FDQWLGDG�WRWDO�GH�Q~PHURV�QR�SDVD�GH������
'DWRV�GH�VDOLGD�

(O� SURJUDPD� GHEH� JHQHUDU� HO� DUFKLYR�
REBOTES.OUT��HQ�HO�GLUHFWRULR�DFWXDO��FRQ��
��� XQD� OtQHD� FRQ� HO� UHFRUULGR� WRWDO� TXH� WXYR� OD�
SHORWD��

(MHPSOR�
(Q� HO� FDVR� GH� TXH� HO� DUFKLYR� REBOTES.IN��
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